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6 @ K| "ERY) 187 917 196 4 10 0 21 44
7 K| AR 199 915 196 4 9 0 21 41
8 ¢ & | mBRW 201 924 196 4 9 0 21 42
9 : + | "[EY 198 920 195 4 8 0 22 41
10 ¢ H | "IRY 203 919 196 3 8 0 21 43
11 : A | "R 193 915 196 4 8 0 21 42
12 : k| AERY) 194 918 196 4 10 0 22 43
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12 ¢ H AR 177 925 195 3 8 0 21 39
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15 © k| AR 190 919 197 1 8 0 22 39
16 : /K | "[RY) 186 916 197 1 7 0 22 39
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29 | + =1k 0| f&Ik =1k =1k =1k =1k = 1k =1k
30 1 H 21 0| f&Ik 21k (A 21k =1k 12 1 =1k
31 i A 12 1 0| {51k 121 21k 121 21k 12 11 121
® K — 186 933 196 39 13 0 22 49
BN — 0 826 194 3 8 0 16 39
oy — 155 921 195 5 10 0 21 41
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PR — — 80024 E | 200LLF [ 100LLF | 2084 F | 200F | 2584F | 56LLTF
1 oK =1k 0] f&Ik 21k 2 1k 21k =1k 21k =1k
2 i & 12 11 0] {51k =1k (Al 2 1k 21k 21k =1k
3 1+ 1= 1k 0] {51k 1= 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
4 H (Al 0] {51k = 1k 1= 11 = 1k 1= 1k = 1k 1= 1k
5 ¢ H 1= 1k 0 {51k = 1k 1= 1k = 1k 1 1k = 1k 1= 1k
6 ik 1= 1k 0 {51k = 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
7 00K = 1k 0] {51k = 1k = 1k = 1k 1= 1k =1k 1= 1k
8 ! K = 1k 0 {51k =1k 2 1k =1k 2 1k =1k = 1k
9 | & 2 1k 0 {51k = 1k = 1k =1k 2 1k =1k = 1k
10 + 12 1k 0] {1k =1k 12 1k =1k 2 1k =1k 12 1k
11 f 12 1k 0] {1k =1k 2 1k =1k 2 1k =1k 2 1k
12 - H 2 1k 0] {1k =1k 2 1k =1k = 1k =1k 2 1k
13 ¢k {5 1k 0| 1=i1k 51k 51k 51k 51k 51k 51k
14 i /K 5 1k o 1=k 51k 51k 51k 51k 51k 21k
15 ¢ °K = 1 0] =ik =1k 11 =1k =1k =1k =1k
16 : & 51k 0 51k 51k 51k 51k 51k 51k 51k
17 ¢ + 5 1k 0] {51k 5 1k 5 1k 5 1k 5 1k 51k 15 1k
18 i H 12 1k 0] f&Ik 21k 2 1k 21k =1k 21k =1k
19 i A 12 11 0] {51k =1k (Al 2 1k 21k 21k =1k
20 i 'k =1k 0] {51k 1 1k 1 1k & 1k 15 1k = 1k 15 1k
21 i K = 1k 0] {51k 1= 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
22 1 K = 1k 0] {51k = 1k 1= 11 = 1k 1= 1k = 1k 1= 1k
23 1 4 1= 1k 0 {51k = 1k 1= 1k = 1k 1 1k = 1k 1= 1k
24 ¢ + 1= 1k 0 {51k = 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
25 i H 12 1k 0 {51k = 1k = 1k =1k 1= 1k = 1k 1= 1k
26 i A 12 1k 0] &1k = 1k = 1k = 1k = 1k = 1k = 1k
27 1 ok 12 1k 0 {51k =1k 2 1k =1k 2 1k =1k = 1k
28 1 UK =1k 0 {51k =1k = 1k =1k = 1k =1k = 1k
29 © K =1k 0 {51k = 1k = 1k = 1k 2 1k = 1k 2 1k
30 : & 2 1k 0] {1k =1k 2 1k =1k 2 1k =1k 2 1k
® K — 0 0 0 0 0 0 0 0
®_ /D — 0 0 0 0 0 0 0 0
N — 0 0 0 0 0 0 0 0
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B — — 800LL I~ | 200LLF | 100LAF | 208LF | 2084F | 25BATF | 56LLF
1 oK | AreRwY) 194 921 196 4 10 0 21 41
2 & | "R 195 923 196 4 11 0 21 40
3 i | AR 205 925 196 4 11 0 21 41
4 H | Al 201 923 196 3 11 0 21 39
5 ¢ H ALERY) 199 925 196 3 10 0 22 43
6 : k| AR 195 923 196 4 11 0 22 42
7 1 K | AW 196 928 196 4 10 0 22 41
8 ¢ K | WY 193 921 196 4 9 0 22 42
9 | & | AP 188 921 195 3 9 0 22 41
10 ¢ + | "1k 186 921 195 3 10 0 22 41
11 ¢ H AR 184 923 195 3 9 0 21 42
12 ¢ H AR 191 922 195 4 8 0 21 40
13 ¢ k| AR 184 920 196 4 9 0 22 42
14 ¢ K | "R 181 921 195 3 9 0 21 41
15 ¢ K | AR 185 917 196 3 9 0 21 43
16 | 4 | "R 186 922 195 3 9 0 21 40
17 ¢ & | "I 191 924 195 3 8 0 21 42
18 H AR 176 921 195 3 8 0 22 40
19 ¢ A A PRY) 178 921 195 3 9 0 22 43
20 ¢ k| RIRY 187 919 195 4 10 0 21 41
21 + K | ®ER®) 181 924 195 4 10 0 22 41
22 ¢ K | AR 184 924 195 4 10 0 21 41
23 1 & | AW 186 925 195 3 9 0 21 40
24+ - | m[ER® 180 922 195 3 8 0 22 40
25 i H ALERY) 177 923 196 3 8 0 22 42
26 1 H AR 182 921 195 4 9 0 21 40
27 + K | AIERY) 183 925 195 4 10 0 21 40
28 1 K | m[ER® 179 922 195 4 9 0 22 39
29 ¢ K | AERY) 177 923 195 4 9 0 21 42
30 4 | RIAW) 180 923 195 4 9 0 21 41
® K — 205 928 196 4 11 0 22 43
BN — 176 917 195 3 8 0 21 39
oy — 187 922 195 4 9 0 21 41
& & — 5606 — — — — — — —
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HLAL — ton C C ppm ppm mg/Nm’ ppm ppm
B R — — 800LL L | 200LAF | 100LAF | 20LL°F | 20LAF | 25LL°F | B56LLF
1 = A | ®%Y 183 914 198 1 5 0 21 41
2 k| R 175 920 197 1 6 0 22 40
3 1K | R 187 916 197 1 5 0 22 42
4 1 OK | AR 179 920 198 1 6 0 22 43
5 1 & | mIAY) 179 920 197 1 6 0 23 42
6 : L+ | "W 176 917 196 1 7 0 23 42
7 H | AIAY) 172 913 197 1 7 0 22 41
8 * A | "R 181 918 197 1 6 0 22 42
9 : k| AR 181 915 196 1 5 0 21 41
10 i &K | ®RY) 185 917 196 1 5 0 20 41
11 ¢ K | #IRY) 183 914 196 1 6 0 22 44
12 i & | "[RWY) 182 919 197 1 5 0 22 43
13 1 + | AW 183 912 197 1 5 0 22 42
14 : H | "D 173 922 197 1 6 0 22 42
15 ¢+ H | #IRY) 188 915 198 1 5 0 22 41
16 | k| mIRY) 127| FFRIR | AR A | FRERT| AR FRRES ARRRS| AR
17 ¢ Kk =1k 0l &1k 121k 21k =1k =1k 121k =1k
18 | K (s 0| {5k 2 1k =1k =1k =21k 2 1k =1k
19 | & =1k 0| =ik =1k =1k =1k =1k 2 1k =1k
20 i + =1k 0| &1k =1k =1k =1k =1k =1k 21k
21 i H =1k 0| {51k 121k =1k =1k 21k 121k =1k
22 1 H (3l 0 =ik =1k (=il [l =1k =3l [l
23 1k =1k 0| =1k 21k =1k =1k =1k 2 1k =1k
24 1 K =1k 0| &Ik =1k =1k =1k =1k =1k =1k
25 i K 21k 0l &1k 121k =1k =1k =1k 121k =1k
26 @ & =1k 0| {1k 2 1k =1k =1k 2k 12 1k =1k
27 - + {1k 0| f=ik 21k {51k =1k =1k 2 1k {51k
28 i H =1k 0| =1k =1k =1k =1k =1k 2 1 21k
29 i H =1k 0| &1k =1k =1k =1k =1k =1k 21k
30 ik =1k 0| {51k 12 1k =1k =1k =1k 121k =1k
31 1 UK =1k 0| f&Ik 21k =1k =1k =1k 2 1k 21k
® K — 188 922 198 1 7 0 23 44
B /)N — 0 912 196 1 5 0 20 40
Sy — 91 917 197 1 6 0 22 42
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HAT — ton C C ppm ppm mg/Nm’ ppm ppm
B A — — 800LL E | 200LL°F | 100LAF | 20LLF | 20LLF | 25LAF | B56LATF
1 i A =1k 0| =ik =1k =1k {11 =1k =1k =1k
2 ik = - 0] =ik {5 1k (Gl f= 11 =1k =1k (el
3 1K =l 0| =ik (Al =1k 15 11 151k =1k (Al
4 i K e 0| =ik {51k =1k {511 {51k =1k {52 1
5 & = 0| =ik {1k =1k {511 {51k =1k =1k
6 : t+ = 0] =ik =1k =1k =k =1k =1k =1k
7 i H = 0| =ik =1k =1k 15 11 {51k 21k (Al
8 i A e 0| =ik {51k {5 11 {511 {51k =1k {5 11
9 &k = o] =ik =1k =1k {511 {51k =1k =1k
10 i /K = 0| f{&Ik 15 1k & 1k = 1k 51k 5 1k 5 1k
11 & K & 0| =ik (Al (Al 15 11 151k (Al (Al
12 ¢ & = 0| =ik {51k =1k {511 151k =1k {5 1
13 + = 0| =ik =1k =1k {511 {51k =1k =1k
14 : H = 0| =ik =1k =1k =k =1k =1k =1k
15 i = 0| =ik (Al (Al 15 11 151k =1k (Al
16 © & = 0| =ik {51k =1k {511 151k {51k =1k
17 + K = 0| =ik {51k =1k {511 {51k =1k =1k
18 ¢ K = 0 =ik =1k =1k {2 11 =1k =1k =1k
19 ¢ & = 0| =ik (Al (Al 15 11 151k =1k =1k
20 ¢ + = 0| =ik {51k =1k {511 {51k =1k {5 1
21 © H = 0| =ik {51k =1k 1= 11 {51k =1k =1k
22 i A £ 0| =ik =1k =1k =k =1k =1k =1k
23 1 ok (= 0] =ik (Al (Al 15 11 151k =1k (Al
24 ¢ K 15 11 0| =ik =1k (Al {511 {51k &1k (Al
25 1 K {511 0| =ik {51k =1k {511 {51k =1k =1k
26 : &> 221k o {51k 51k {5 1k {5 1k 5 1k 51k 221k
27 + + = 11 0| =ik {51k (Al = 11 151k Al (Al
28 © H {5 1 0| =ik {1k =1k 15 11 {51k =1k (Al
29 ¢ A {2 1 0| =ik =1k =1k {511 {51k =1k =1k
30 ¢ ok | AR 96| F-FEIEH | SRR SRR FRRIRA | SRR AR AR
31 ¢ K | "R 194 922 196 5 10 0 20 38
K — 194 922 196 5 10 0 20 38
/) — 0 922 196 5 10 0 20 38
- — 9 922 196 5 10 0 20 38
& BF — 290 — — — — — - —
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XA — ton C C ppm ppm mg/Nm’ ppm ppm
B — — 800LL I~ | 200LLF | 100LATF | 2084F | 2084F | 25BATF | 56LLF
1 + | R 179 912 197 0 4 0 22 42
2 H AR 179 914 197 0 4 0 22 41
3 A AR 176 913 196 1 4 0 22 41
4 F ook | AR 182 918 197 0 6 0 23 42
5 K| AR 184 915 197 0 5 0 23 42
6 AN | AR 177 916 197 0 5 0 23 43
7 & | AR 179 914 197 1 6 0 22 42
8 ¢ + | mIAY 180 916 197 0 6 0 22 41
9 H | FIAY) 178 908 197 0 4 0 22 40
10 : H AR 180 912 197 1 5 0 22 42
11 k| AR 181 915 197 0 6 0 22 41
12 1 K | "RY) 183 920 197 1 7 0 22 40
13 ¢ K | A[ERY) 181 917 197 0 5 0 23 40
14 : 4 | w"[RY) 183 923 197 0 6 0 22 41
15 + | "y 179 914 198 1 5 0 23 40
16 : H | " 175 918 197 0 5 0 23 41
178 A | "[&® 187 918 197 1 5 0 22 39
18 & k| AR 189 922 198 1 5 0 22 41
19 : /K | "R 187 916 197 0 5 0 22 40
20 i K | AIPRW) 188 921 197 1 6 0 22 40
21 i 4 | AR 187 917 197 1 6 0 22 40
22 i & | AR 182 917 197 0 6 0 22 41
23 ¢ H | R 179 907 197 0 4 0 22 39
24 ¢ H AR 179 916 197 0 4 0 22 41
25 ¢ k| AR 190 919 197 0 5 0 22 41
26 @ K | AR 186 919 197 1 5 0 22 40
27 K | AIR) 185 913 198 1 5 0 22 41
28 1 4 | AR 186 921 197 1 6 0 22 41
29 i L | ARY) 182 911 197 1 5 0 22 41
30 ¢ H | RIAY) 182 913 197 1 5 0 22 41
AN — 190 923 198 1 7 0 23 43
AN — 175 907 196 0 4 0 22 39
S — 182 916 197 0 5 0 22 41
& & — 5466 — — — — — — —
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— — HAGHE | HPEME | B0 | BE0E | BP0 | BSE4E | B EE | B P
HAAT — ton < ke ppm ppm mg/Nm’ ppm ppm
e — — 8004 E | 20081 F | 100BLF | 2080 F | 2080F | 2580 F | B6LLF
1 + =1k o f&Ik =1k =1k 22 11 =1k =1k =1k
2 H =1k 0o =ik =1k =1k =1k =1k =1k =1k
3 ¢ A 1= 1k o f{&1Ik = 1k = 1k = 1k = 1k =1k 1= 1k
4 i ook 1= 1k o f&1Ik = 1k 1= 1k = 1k 1= 1k =1k 1= 1k
5 K = 1k o f&1k = 1k 1= 1k = 1k 1= 1k = 1k = 1k
6 K = 1k o f&1Ik = 1k 1= 1k = 1k = 1k = 1k 1= 1k
7T 4 1= 1k o f%1k = 1k = 1k = 1k 1= 1k =1k 1= 1k
8 | + 1= 1k o f&1k = 1k 1= 1k = 1k 1= 1k = 1k = 1k
9 H 1= 1k o f=1k =1k 1= 1k 1= 1k =1k =1k =1k
10 H 1= 1k o f&1k 1= 1k 1= 1k 1= 1k =1k =1k =1k
11§ k 2 1k o f=Ik =1k = 1k = 1k =1k =1k =1k
12 i /XK 2 1k o f=Ik =1k = 1k =1k = 1k =1k = 1k
13 © K {5 1k o =1k =1k = 1k = 1k = 1k =1k = 1k
14 | 4 =1k of =ik =1k =1k =1k =1k =1k = 1k
15 + =1k of =1k =1k =1k {1k =1k =1k =1k
16 : H 12 1k o =ik 15 1k 152 1k 155 11 12 1k 152 1k 2 1k
17 ¢ A 21k o {51k {5 1k Al 15 1E {5 1k 51k 21k
18 ik =1k ol f&1Ik =1k =1k 22 11 =1k =1k =1k
19 i K =1k 0o =ik =1k =1k =1k =1k =1k =1k
20 © K {5 1k ol f&1k = 1k Al = 1k 3l =1k Al
21 i 4 1= 1k o f&Ik = 1k 1= 1k = 1k = 1k =1k 1= 1k
22 1 + 1= 1k o f&1Ik = 1k 1= 1k = 1k 1= 1k =1k 1= 1k
23 ¢ H 1= 1k o f&1k = 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
24 ¢ A 1= 1k ol f&1Ik = 1k = 1k = 1k = 1k = 1k 1= 1k
25 ik 1= 1k o f&1k = 1k 1= 1k = 1k 1= 1k = 1k 1= 1k
26 i /K = 1k o f&1Ik 1= 1k = 1k = 1k 1= 1k =1k = 1k
27 ¢ K = 1k o f&1k = 1k 1= 1k = 1k 1= 1k =1k 1= 1k
28 i 4 1= 1k o f=1k =1k 1= 1k = 1k 1= 1k =1k = 1k
29 i + 1= 1k o f=Ik =1k = 1k 1= 1k =1k =1k =1k
30 ¢ H 1= 1k o f=Ik =1k = 1k =1k = 1k =1k = 1k
&K — 0 0 0 0 0 0 0 0
AN — 0 0 0 0 0 0 0 0
A — 0 0 0 0 0 0 0 0
o o~ - - - - - -
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